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SAT Practice Test #2 
Section 1: Reading Test 
QUESTION 1 
Choice A is the best answer. The narrator admits that his job is 
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Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 3 
Choice C is the best answer.  
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QUESTION 4 
Choice A is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 5 
Choice D is the best answer. The narrator states that Crimsworth 

 

 

 

 

 

 

 

 

 

 

QUESTION 6 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 7 
Choice D is the best answer.  
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QUESTION 8 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 9 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 10 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 11 
Choice D is the best answer.  

 

 

 

 

 



 

 

 

 

QUESTION 12 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 13 
Choice A is the best answer.  

 

 

 

 

 

 

QUESTION 14 
Choice B is the best answer.  

 

 

 

 

 

QUESTION 15 
Choice C is the best answer.  
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QUESTION 16 
Choice A is the best answer.  

 

 

 

 

 

 

QUESTION 17 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 18 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 19 
Choice A is the best answer. The data in the graph show that in 

 

 

 

 

 



QUESTION 20 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 21 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 22 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 23 
Choice A is the best answer.  
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QUESTION 24 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 25 
Choice C is the best answer.  

 

 

 

 

 

QUESTION 26 
Choice B is the best answer.  

 

 

 

 

 

 

 does not suggest he disliked Tolstoy’s writing style or 
 

 

QUESTION 27 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 



QUESTION 28 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 29 
Choice D is the best answer.  

 

 

 

 

 

 

 

QUESTION 30 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

QUESTION 31 
Choice C is the best answer.  
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QUESTION 32 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

QUESTION 33 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 34 
Choice A is the best answer.  

 

 

 

 

 

 

 

 



 

QUESTION 35 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 36 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 37 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 38 
Choice D is the best answer.  
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QUESTION 39 
Choice C is the best answer.  

 

 

 

 

 

 

QUESTION 40 
Choice A is the best answer.  

 

 

arguing that men are lamenting, or expressing regret about, how their 
 

 

 

 

 

QUESTION 41 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 42 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 



QUESTION 43 
Choice C is the best answer.  

 

 

 

 

 

 

 

QUESTION 44 
Choice B is the best answer.  

 

 

 

 

 

 

QUESTION 45 
Choice D is the best answer.  

 

 

 

 

 

 

 

QUESTION 46 
Choice C is the best answer.  

 

 

 

 

 

 

QUESTION 47 
Choice A is the best answer.  
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QUESTION 48 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 49 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 50 
Choice D is the best answer.  

 

 

 

 

QUESTION 51 
Choice D is the best answer.  

 

 

 

 

 



 

 

 

 

 

 

QUESTION 52 
Choice A is the best answer.  

 

 

 

 

 

 

 

 

 

Section 2: Writing and Language Test 
QUESTION 1 
Choice B is the best answer  

 

 

 

QUESTION 2 
Choice B is the best answer  

 

 

 

 

 

 

QUESTION 3 
Choice A is the best answer  
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